[] . 9 A A A , , , (. 1A <
AY 3 ba s0 thap phan, thtr ty cac phép toan c6 dau ngoac

Tén: Ngay thang: _ Diém:_
(31,2+19,2)+ 8= (12+35,4)+~6 =

45,1 +3,5)= (5,3+2,4)x4,9=

5,9(6,2 +4,4) = (2,6 +6,7)x4,7=

4,13,6 —5,5) = 3,43,3+2,7) =

2,74,1+4,2)= 3,6(5,5-2,7)=
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[] . {o/ A A A , , , (. 1A <
AY 3 ba s0 thap phan, thtr ty cac phép toan c6 dau ngoac

Tén: Ngay thang: _ Diém: _
(31,2+19,2)+~8=6.3 (12+35,4)~6=79
45,1+3,5)=344 (5,3+2,4)x4,9=37.73
5,9(6,2 +4,4) = 62.54 (2,6 +6,7)x4,7=43.71
4,13,6 —5,5) =-7.79 3,43,3+2,7) =204
2,74,1+4,2)=2241 3,6(5,5—2,7)=10.08
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